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OEE -002 : POWER DISTRIBUTION 

SYSTEM — BASICS 

Time : 3 hours 	 Maximum Marks : 70 

Note : This paper has two sections — Section A and 

Section B. Both these sections are compulsory. 
Remarks have been mentioned in the 
section/question along with marks. Write your 
answers in English or Hindi language only. 

SECTION A 

1. Fill in the blanks choosing the correct answers 
from the choices given below : 	 15x1=15 

(interlock, moisture, survey, gases, creepage, 
conductor, conservator, risers, spacers, cross-arms, 
vacuum, rectifier, reliability, isolator, transformer) 

(i) Quality of SF6  gas is checked by its 

	content. 

(ii) 	 transformer is used for battery 
charging. 

(iii) 	 of supply increases with increase in 
number of transformers. 

(iv) Dog is the trade name of 
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(v) switchgear 	requires 	less 

maintenance than oil insulated switchgear. 

(vi) An 	is provided between isolator and 

earth switch. 

(vii) Breather is attached with 	tank. 

(viii) The basic grounding system is in the form of 

earth mat with 	 

(ix) An insulator is specified by its 	 

distance. 

(x) Before installation of line, 	needs to 

be carried out. 

(xi) 	cannot be operated unless breaker 

is open. 

(xii) Temperature rise test is performed on 

(xiii)	 are provided to overcome the 

problem of clashing of LT conductors in the 

mid span. 

(xiv) Due to fault inside the transformer, 	 

may be formed. 

(xv)	 are provided in pole to provide 

mechanical support to multiple conductors. 
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2. Write True (4) or False (x) for the statements 

given below : 	 /0x/----/0 

(i) Expected life span of transformer above 
100 KVA is 35 years. 

(ii) Secondary output current of CT is 5 A. 

(iii) Full form of conductor type AAC is All Alloy 

Conductor. 

(iv) Single-phase meters are being used for 
agricultural customers. 

(v) Electricity is often generated at 11 KV by 

electrical generators. 

(vi) Purified water with low resistance value is 
used for live line washing. 

(vii) Isolator is operated at no load. 

(viii) Multiplying factor of CT/PT can be a source 

of Revenue loss. 

(ix) Information Technology can play a major 
role in AT & C loss reduction. 

(x) Drawback of Electricity Act, 2003 is that it 
doesn't have legal provision against theft of 
energy. 
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3. Match the following given in Column A with 

- Column B : 

Column A 

5x1.5 

Column B 

(a) Circuit Breaker (i) Core 

(b) Insulator (ii) Fixed contact 

(c) Transformer (iii) Sag 

(d) Cable (iv) Polymer 

(e) Conductor (v) XLPE 
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SECTION B 

Answer any eight (8) questions from the 

following : 	 8x5=40 

4. When is drying out of transformer required ? 

5. What factors contribute to high technical 

losses in your utility ? 

6. What do you understand by Trivector Meter ? 

7. What are the advantages of cables as 

compared to overhead lines ? 

8. What are the advantages and disadvantages 

of radial feeders ? 

9. Name different types of cables used in power 

distribution system. 

10. List the tests that are carried out for 

transformer oil. 

11. How is a fault interrupted by a Circuit 

Breaker ? 

12. List out the different activities involved in 

0 & M of distribution system. 

13. What do you understand by Grid Substation ? 
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